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1. BEERODE
(1) BEIN
VNG 450,000 450,000 450,000
14 ZWEE 1,400,000 1,400,000 1,400,000
v SBREAMNE 3,814,000 3,814,000 904,000 4,718,000
I wISF—SNE 0 0 0
EEunasst 5,664,000 5,664,000 904,000 6,568,000
(2) ;EER
7 BEE 5,664,000 5,664,000 5,664,000
BEBES 0 0 0
BREY 2,500,000 2,500,000 2,500,000
HHEK B W R UK ER 700,000 700,000 700,000
EEEAE 324,000 324,000 324,000
SEE 500,000 500,000 500,000
REXBE 52,000 52,000 52,000
BIEE 80,000 80,000 80,000
EFARE 108,000 108,000 108,000
HERE 140,000 140,000 140,000
LEETE 260,000 260,000 260,000
&R 1,000,000 1,000,000 1,000,000
+ I —-BRE 0 0 0
BEH RS 0 0 0
1 EBEE 0 0 904,000 904,000
MERFY 180,000 180,000
EEENE 36,000 36,000
SRE 30,000 30,000
REXBE 12,000 12,000
BEE 12,000 12,000
EERARE 12,000 12,000
HRERE 26,000 26,000
aER 60,000 60,000
iSRRI S 70,000 70,000
X ALEREN 396,000 396,000
M 70,000 70,000
e 5,664,000 5,664,000 904,000 6,568,000
AR AR 0 0 0 0
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